> linmod <- lm( y ~ school_month )
> summary (linmod)

Call:
Im(formula = y ~ school_month)
Residuals:
Min 1Q Median 3Q Max

-0.076816 -0.033635 0.008356 0.035498 0.052811

Coefficients:

Estimate Std. Error t value Pr(>|t]|)
(Intercept) 0.780662 0.022964 33.996 1.15e-11 xkx
school_month -0.014862 0.003536 -4.203 0.00182 xx

Signif. codes: 0 'sxxx' 0.001 'xx' 0.01 'x' 0.05 '.' 0.1 ' ' 1
Residual standard error: 0.04229 on 10 degrees of freedom

Multiple R-squared: 0.6385, Adjusted R-squared: 0.6024
F-statistic: 17.66 on 1 and 10 DF, p-value: 0.001821



